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D,(x, Y)=Y (x)

Dy(x, Y)=Y;(x)

Dy(x, Y)= <—aY sin—, ——+unY cos—-—+42”'u P* gin &%
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EWMAREAT, BxRiE, RTRMBCDE. B, DAwdF&H4R:
BE (x=10) x=0, G=90 S Y, (0)=Y,0)=0 2.7
DA (x=2) x=0, G=29¢ S Ya()=Y.(2)=0 (2.8)
7 C fi(x=1), Y(x)RLEMK, HEZELHR '
Xeo=Xzecs Secp=Sescs Nco=npcs T pcp=—T oec TN FIMCDEMC SMEH Y*(1),
BCE#y C mERAYQ), MWEBEETLEH
Y,*(1)=Y,(1), V" (1) ==Y (D) +4r(g"fa+F%) }

Y *(1) =¥Y.(1), Y*Q)=-Y;(1) —3unq*
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Dz(x’Y)=Yc(x)
Ds(st)=ys(x)

D,(x, Y)=<—aY,sinizx +uny, cos'—%’i)- x/2- (1+acos ir%—) 3.1

Ds(x,Y)<—aY;sin ];x — U Yzcos—n-;—>-n/2- '\1 +a cosJ;i> J

YV (0)=V,(0)=0 (3.2)
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Hi, BHTHNUSHHE,
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Y,(0), Y(0), YV, (0), YVi(0)=0 (3.5)
RIBHRQ.)MEESRM(2.9), AGIHESREIEFKBS
Wr(x)=V2(x)+i¥V 2 (x)
HX, B TENO2HEHE,
Y,(0), Y4(0), Ys(0)=0, YV, (0)=1 (3.6)
RE\EHTRG. OMEELRMER.3), HGIll FEREBFARES
Whx)=Y(x)+iV}(x)
R, BDE(x=2)1 R &4 (2.8), &ME
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. D=1{1, Y.u Y59 Du Dsy De’ Dv }T
Hp D,, DyfEQ.5)XNHMELLH,

D=2V, 50" /(14 cos’) l

. (3.9)
- T o TX X

D,= -I——Z—BY3 51n-2—/<1+a cos7> J

ik 0=37 +c¢,0f +c,0}
AT HEBRVHINNBERESHEE, HROSARENTR, RMNERAT G T
¥ DBREBRELMBSERIFR, ®
Y (2, A=Ay (x) +A () i+ A (XD AP+ Ag(x) P
HicgkER A, 4k, 8h, 16 BEMBMEMS B Y (x,h), Y(x,4h), Y (x,8h), Y(x’16h)-
rMHE
Y(x)=£i_133 Y (x, A)=A,(x)

=[512Y(x, /) —280Y (x, 47)+90 Y (x, 81)—7Y (x, 164)1/315 (3.10)
R,
d=[512 8(h) — 280 8(44) +90 5(84) —7 8(16k)]/315 (3.11)

o, FRERINESEARRADERTHREESRT]

LRI ENE, E=21000kg/mm?, v=0.3, 7EHEI/1P.=1000kgfEAT, #& BCD
B CGEANE) BI#mMRK ok 1 BioR.
R2HEMTERBB IRWANSG. Hbh—RE
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Ve=et* Z c,e'"’

fl=——20

BN 41 T, F DIS—130 MLy 8 BASICIES (A1) L. BcfEf@m WANG 2200 VS #1
BASICiEE (+HAD) #HE, TE BB K 1/720 GBE T oiBK B 0.125°) . Fid K
1/240 (ST @¢#9 0.375°) WFEHELE, "IALAER.

MERL, R2AUEH, HEMRD--BRETE . Hp, —REOBECZIGIER
¥ A KSR DIS—130 L BASIC {52 £ A B AR 249 s
. X [2,4] E£#EH, —REMC. E. Turner—H. Ford(1957) T —-&, HAOE
RILBEENTS. AN BERBERK.

MNE 3FTLIEH, ASCIRHEIMEAR, ERESROME, BEUFNAFESEL
NEXRHE. NTHEFEPEGHATERNE, FTTHYN, REEE, @F .

F. ERIESUS 7ENE R TR AT

BRG] T ARAE, ENEq=7.957747X 10 ke/mm* KI{ERT, (R A& 7
aR*q=1000 kg), BCD Bx CAE) MmMK I mE 4 in. RRNSHRES .
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F1 P.=1000kg
& N a R{mm) a(mm) # @ S (mm) | — #& M S (mm)
1 1 0.1 200 20 0.085620 0.08362
i 4 0.1 200 20 1.03981 1.03980
i 16 0.5 200 100 0.11896 0.11895
F2 p=4, a=0.1, P.=1000kg
. No(kg/mm) No(kg/mm) M p(kg) Mo(kg) Q(kg/mm)
Y lemm|-mE RER| - B REE| MR RER| - HE| HEE| — &R
90 | 0.723421 | 0.723432 |—14.74908/— 14.7491 |—0. 304708 0. 304706/~ 0. 091412|—0, 081412| 0.00000 |—0.000003
80 | 0.754263 | 0.754264 |—14.90033|— 14,9003 |—0.118793(—0. 118790|~0. 035028/ —0.035028!—0, 105804)— 0. 105808
70 | 0.846425 | 0,846426 (—15.18693|— 15,1869 | 0.418685 0.418691 0.126202 0.126204|—0.198702—0. 186706
60 | 0.996230 | 0.996230 (—16.16600/— 15,1660 | 1.237190| 1.23719 | 0.366118| 0.366119—0.260819/—0. 260823
60 | 1.190354 | 1.19036 |—14.29050~14.2005 | 2.194453 2.19446 | 0.635520| 0.695521|—0.268691|—0, 268695
40 | 1.400835 | 1.40064 |—12.16955—12.1695 | 3.063243 3.06325 | 0.861051 0.861052—0.139203—0. 198208
30 | 1.585625 | 1.58563 | —8.84498| —8.84492 3.547861| 3.54785 | 0.952733| 0.953729—0.040336—0.040338
20 | 1.702044 | 1.70205 | —4.96208) —4.96294 3.338636 3.33862 | 0.828353 0.328348 0.199346| 0.199345
10 { 1.723164 | 1.72817 | —1.69536 —1.69540 2.187378 2.18733 | 0.426825 0.42681 | 0.490418 0.490418
0| 1.653915 | 1.65392 | —0.32434 —0,32447|—0,026911/— 0. 056979|—0. 267866 — 0. 267887 0.7957747) 0.795775
180 | 1.663915 | 1.65392 | —0.32434] —0.32446) 0056611 0.026978 0267866, 0.267886| 0.7857747| 0.795775
190 | 1.78733t | 1.79734 | 0.86872| 0.86878 2.330088 2.33014 | 0.937566| 0.937581 0.505412 0.505411
200 | 1.848705 | 1.84871 | 4.20564) 4.2958 | 3.606302 2.60634 | 1.267359) 1.26737 | 0.203961 0.203958
210 | 1.784044 | 1.78406 | 8.66542 5.6656 | 3.886250) 3.88626 | 1.285011] 1.28501 |—0.062774/—0.062776
220 | 1.619813 | 1.61981 | 12.55082 12.5611 | 3.359557| 3.35053 | 1.067407) 1.06740 |—0.248014/—0.249013
230 | 1.403608 | 1.40360 | 15.00253 15.0027 | 2.346248) 2.34621 | 0.722814| 0.72280 |—0.332045/—0, 332042
240 | 1.190637 | 1.10063 | 15.83577] 15.8358 | (.199312] 1.19926 | 0.350317| 0.359301|—0.319794/—0,319787
260 | 1022343 | 102234 | 15.53461 15.5345 | 0.209304 0.20926 | 0.058368 0.058356/— . 240863 —0. 240854
260 | 0.918688 | 0.918686 | 14.89133 14.8913 |—0.440812/—0.44084 |—0.134048|—0. 124056/~ 0. 126848|—0. 12687
210 | 0.884194 | 0.884194 | 14.58883 14.5838 |—D.665148—0.665144—0.199544~0.199543 0.00000 | 0.000012
#*3 p=4, a=0.1, P.=1000kg
il & # £ ) } i ¥ o (mm) " 2
B 7 S S 0.357143 : 1.02819441667184 % = fr1.2
m | 0.575 : 1.05080099478337 | B B 14
P 4 BT 0.125 } 1,03980985070219 }
— # m | 4w 1.,03980 J—
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ME 4, R5TUBHYEERN - BRAEEL K. XB—-RBOREERSLIT, BEH T
FrEhiEs A ER MAARKERE, SR - RF|ORERTEL.
MENTE I, Z&EE. RHNEFENZREMNNEIERBERG A58
(& a HE/DI).

AXHBERBEHRKEZBHEN, HATRARS, ERRLNBE. XPHA--&
fRES S B AR BRI AR B, AW BB ERBRESER, T —HRREH.

4 p=4, a=0.1, q=7.957747X10-*kg/mm?
¥ @B ® (3 mm) 1.0329561
- B ® 8 (mm) 1.03289
&5 p=4, a=0.1, q=7.957747X10"*kg/mm?
] N (kg/mm) No(kg/mm) M, (kg My (kg) Q (kg/mm)
? BER | KR | RER | B | RER | SR | REE | BB | JER | 88
90 | 0.876352 | 0.875348 |—14,68846|—14.6887 (—0.171965/—0.172044/—0.05158%—0,051613| 0.00000 |—0.000003
80 | 0.906283 | 0.906286 |—14,78135|—14.7816 | 0.0144568 | 0,014386 | 0.004612 | 0.0045912—0.105796/— 0, 105801
70 1 0.998109 | 0.998114 |-14.896785|—14.8971 | 0.550348 | 0.550281 | 0,164579 | 0.16436 |—0.196956)—0, 196996
60 | 1.145391 | 1.14540 |—14.60623(—14.6086 [ 1.356853 | 1.35681 0.399139 | 0.398125 \—0,2564494(—0,254508
50 [ 1.332385 | 1.33239 [—13.29290,—13.3934 | 2.281326 | 2.28129 | 0.656826 | 0.656822 |—0.255032|—0, 255052
40 | 1.528632 | 1.52866 |—10.91588|—10.9144 | 3.088908 | 3.08889 | 0.8622:6 | D.862338 |—0,177091|—0.177114
30 | 1.691488 | 1.69152 [—7.270705{—7.27118 | 3.484494 | 3.48449 | 0.927%64 | 0.927571 |—0.011755/-0, (117766
20 | 1.778380 | 1.77842 —3.16101|—3.16152 | 3.171489 | 3,17146 | 0.771948 | 0.771942 | D,228531] 0,228514
10 | 1.765285 | 1.76534 0.22576] 0.22633 | 1.928338 | 1.92822 | 0.345722 | 0.345707 | 0.610816; 0.6510802
0] 1.660974 | 1.66104 1.64260] 1.64233 |—0.38506/~0.32872 |—0,357299/—0.357357 0.7957747] 0.795776
180 | 1.660974 | 1.66104 1.64260 1.64233 | 0.338506 | 0.338718 | 0.357299 | 0.357357| 0.7957747 0.795775
190 | 1.767343 | 1.76740 2.85018| 2.85061 | 2.591496 | 2.59167 1.01038 1.01038 | 0.482388| 0.482377
200 | 1.779030 | 1.77908 6.19144] 6,1923 3.787737 3.76783 | 1.306946 1.30696 | 0.170367) 0.170348
210 | 1.677428 | 1.87745 10.32382( 10.3248 | 3.929722 [ 3.92973 | 1.288237 1.28823 {—0,095526{—0.095646
220 | 1.4838561 | 1.48386 13.83411| 13,8351 3.301461 3.30136 | 1.0412563 1.04121 |—0,273062|—0.273075
230 | 1.248349 | 1,24835 15.83880] 15.8394 | 2.22486 2.22233 | 0.679280 | 0.67922 |—0,344555/—0, 344559
--240 | 1,025567 | 1,02555 16.23818( 16,2386 | 1.047901 1.0477 | 0.310064 | 0.310004/—0, 3226000, 322594
250 | 0.854088 | 0,85408 16.5876566 15.5877 | 0.056935 | 0.066757) 0.010920 | 0.010876)—0.238536|—0.238527
_ 260 | 0.760373 | 0.750364 14,72305| 14.723 —0.584279/—0.584432|—0.177517 0.1775656{—0.124201(—0,124188
270 | 0.718197 | 0.716196 14,345201 14,3453 |—0.803862—0.803986|—0.241158/—0,241185 0.00000 | 0.000012
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T E MR

(=), FEFEEHRESEGI ARKRFRASMIEFKRS, HBAE/AETEE.
(). EREEENNEAR, RED. EHMER, TH.
(=), TRAKE
U-—~ u D—a A-—~—a Ve—y
/¢ E—E P—P Q-—qRq*
¥ ( a:{x, ReW, \mW, Re%—, m%, 5 a,}
D y=d¥Y( )/d=x
VIC ), Ve( ), DIC ), UC ), W )y—THhBR
Ve ). Ve ), Vel ), V3 )y—IfERT
At ) ——GIlIAR R
C% - fTENEIE (FE)
N% - - BMTHRR S RN % 3
A%. B%, P% —BHER
L% M%, 1%. /% K% —BHER
4 g iR
N1%, N3%, N4%, B, P1, S, C, T—T1R#x
F, G Zt 22 Z3, Z4, Z5—T{ERART
(). ERFHF
100 SELECT DEGREES,PRINTER:PRINT PAGE;
200 U=4%. D=1. A=20%. Q=0%: P=1000%: P%=1%. E=21000%: V=.3
300 N%=1%. C%=30%: Pl1=314159265358979
400 INPUT “VALUE OF N.CU, DA.QP.EV="N%,C%.UDAQPEYV
500 [F ABS(P)>1 E—6 THEN §00. P%=0%. P=1000%
600 Q-=Q*2*P1*A*A/ (P*D) . B=U*P/(2*PI*E*D*A*A*SQR (3% (1—V*V)))
700 DIM  U4.182,.V(4,182), V1(4.182).V2(4,182),V3(4,182), W(4,182)
800 N2%=180%/C%+2%: N3%=90%/C%+2%
900 CALL “WANG1” (Vi(),U,D,P%.Q,N%, N2% .13
1000 N%=2%*N%. CALL “WANG1” (V2( ),U,D,P%.Q,N% ,N2%,24)
1100 N =2%*N%. CALL “WANG1” (V3( ).U,D.P%,Q,N% N2%,Z5)
1200 N%=4%*N%. CALL “WANG1” (V (),UD,P%,Q.N% N2%.Z)
1300 1Ok 1%=1% TO 4% STEP 1%. FOR I1%=1% TO N2% STEP %
1400 V%, 1%)=5612*V(1%. 1%)—280% V3 (% .J%)+90%*V2(1%. 9%)—-1*V1(1% .1%)) /316
1500 NEXT J%. NEXT (% .Z=(512%*2—280%*Z5+ 90% *Z4—1%*Z3)/315%
1600 I'OR 1% =1% TO N2% STEP 1%. IF 1% <N3% THEN A% =1% ELSE A% =—1%
1700 I=I%~—1.5+4.5*A% . S=SIN (J*C%). C=COS(I*C%). T=1+D*C
1800 UQ,1%)=A%* (Q*T*(1+T)—D*S*V (2.1%) /U+2*P%*(D+C))/(2*¥T*T)
1900 U(2,1%)=AZ*(Q*T*T + 2 ¥T*#V(4,1%)/(U*P1) +D*S*V(2 ,1%)/U—2*P%*(D+C)) |
2000 /(2*T*T)
2100 U(3,1%)=—A%*(2*T*V(3.1%)/P1+(1—V)*D*S*V(1,1%))/(2*T*T)
2200 U4,1%)=—A%*(2*T*V*V(3,1%)/P1—(1—V)*D*S*V(1,1%))/(2*T*T)
2300 W(1,1%)=(D*C*V (2,1%)/U+ 2 *P%*S)/(2*T*T)
2400 W2,1%;=-B*V(1,1%)/T



110 = B
2500 W(3.1%)=B*T*(U(2 ,1%)—V*U(1.1%))
2600 W(4,1%)=5*B*P1*S*V(1,1%)/T. NEXT (%
2700 pRINT SKIP(IO). COL(40)_ B L Lt i it ieriee e b i se e s a e er e e b e e esaae et #
2800 PRINT COL(40): “THE SOLUTIONS OF A BELLOWS OF TYPE C 1”
2900 PRINT COL(40)' B @ttt eeete s e e e s e e e e et e e e 9
3000 PRINT SKIP(4):“(1) FUNCTION V AND STRESSES/(P/2*PI*A*H)”; SKIP(2); !
3100 “DEG. RE(V) IM(V) RE(D(V)/D(FAID)) IM(D(V)/D(FA!
3200 D)) SIGMA(FAD EXT, SIG., (THETA) EXT. SIG. (F.) INT. SIG, (TH,) INT, "
3300 T=3/ (U*SOR(3*(1—V*V))) .Z=—Z*A*BP1/2%
3400 FOR 1%=1% TO N2% STEP 1%. IF 1% <N3s% THEN 3600
3500 1=90% +(1%—2%)*C%. A%=1%. GOTO 3700
3600 J=90%—(1%—1%)*C%. A%=-—1%
3700 PRINT USING 4900. 1. V({1.1%): V(2,I%): 2*A%*V(3,1%)/P1; 1
3800 2*A%*V(4.1%)/P1: (UQ.1%)—-T*U(3,1%))*D: (U(2,1%)—T*U(4,1%))*D: 1
3900 (UQ1.1%)+T*U(3,1%))*D: (U(2.1%)+T*U4.,1%))*D. NEXT 1%
4000 PRINT PAGE; “(2) STRESS RESULTANTS AND DEFORMATIONS"; SKIP(2): 1
4100 “DEG, N(FAD) N(THETA) M(FAD) M(THETA)}
4200 Q X(KAID*1000 Y*#100 D(Z)/D(X)”
4300 T=P*D/(2*P1*A). S=P*D*D/(4*P1*U*U)
4400 FOR 1%=1% TO N2% STEP 1%. IF 1% <N3% THEN 4600
4600 J=90%+(1%—2%)* C%. GOTO 4100
4600 J=90%—(1%—1%)*C% .
4700 PRINT USING 4900, I: U, [%)*T; Uz, [%)*T; U8, 1%)*S; U4, 1%)*S; 1
4800 W(1, [%)*T; W(2, [%)*1000; W(3, [%)*100%A; W(4, [%)*A. NEXT 1%
4900 %### ~FESE i ~HEEE FEEEEE ~fEEd Ehgden -REEE SREEESE 1
5000 —REEE FEEHES -HEEE FEEEEY SEEEE REEEES —fEEE REEERE
5100 PRINT SKIP(2): “(8) AXIAL DISPLACEMENT Z="; Z
5200 PRINT 8KIP(2): “(4) ORIGINAL DATA”
5300 PRINT SKIP. PRINT USING 5500, U; D; A/D: A: A*D*SQR(3%*(1~V*V))/U
5400 PRINT USING 5600, P%*P; 50%Q*P*D/(Pi*A*A); E; V; N%: C%, END
5500 ZMIU=1#x 2 ALFA= ssasssr R=sax s2(MM) A=2z_ ss22(MM) H=#%_ sezex(MM)
5600 %P=—ss222(KG), Q= —# s#srase(KG/CM2), E=#zs22 «(KG/MM”"2), V= _ssrsex, ]
5700 N=### M=z2%
(R). TREXH
100 SUB “WANGI” (U(), U, D, P%, Q, N%, N2%, Z). SELECT DEGREES
200 P1=3.14159265358979; F=,5%*SQR(2)
300 Zi, Z2, Z=0%. N1%=N2%—1%. N3=N2%/2%. N4%=N3% —1%
400 DIM A(3), Y(D, YI(D), Y2(D, D(T), DI(T), U4, 182)., W(4, 182)
500 A(1)=1/(N4Z%*2%*N%): A(2)=(1—-F)*2%*A(1). A)=U+F)*2%*A(1)
600 MAT Y=ZER. Uq, 1), U, 1), U@, 1), U, 1)=0%
00 S=0%. C=1%. T=1%+D. GOSUB 4200
800 B%=1%; FOR L%=1% TO N1% STEP 1%
900 FOR M%=1% TO N% STEP 1%. FOR 1% =1% TO 6% STEP 1%
1000 Y1(1%), Y2(1%)=Y(1%). NEXT 1%. MAT D{=ZER
1100 FOR K% =1% TO 3% STEP 1%. FOR 1% =1% TO 6% STEP 1%
1200 Y{I%)=Y2(1%)+AK%)*DU%) + (K% —1%)*A(1) ~ A(K%))*D1(1%)
1300 V1(1%)=Y1(1%)+AK#%)*D(1%)/3: Di(1%)=D(1%). NEXT 1%
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S=SIN(90%*Y(1)): C=CO0S(80%*Y (1)). T=1%+D*C. GOSUB 4200

NEXT K%. FOR 1%=1% TO 6% STEP 1%. Y(1%)=Y1(1%)+A(1)*D%)/3
NEXT 1%. S=SIN(90%*Y(1)): C=COS(80%*Y(1)); T=1%+D*C. GOSUB 4209
NEXT M%. IF L%=N4% THEN GOSUB 4500

FOR 1%9=1% TO 4% STEP i%. U(i%, L%+1%)=YU%+1%). NEXT 1%. NEXT L%
2=Y(6): MAT Y=ZER. W, 1), W2, 1), W4, )=0%: Y&, W3, )=1%
$=0%. C=1%. T=1%-+D. GOSUB 4200

A%=1%. B%=0%. FOR L%=1% TO N1% STEP 1%

FOR M%=1% TO N% STEP :%. FOR 1%=1% TO 7% STEP 1%

Y1(%), Y2U%)=Y(12%). NEXT 1%. MAT D1=ZER

FOR K% =1% TO 3% STEP 1%. FOR 1%=1% TO 1% STEP 1%
Y(1%)=Y2(1%)+A(K%»*D(1%)+ (K% —1%)*A (1)~ A(K%))*Di1(1%)
Y1(1%)=Y1(1%)+ A(K%)*D(1%)/2: D1(1%)=D(1%). NEXT 1%
S=SIN(902%*Y(1)). C=COS(90%*Y(1}); T=1% +D*C. GOSUB 4200

NEXT K%. FOR 1%=1% TO 1% STEP 1%, Y(1%)=Y1(1%)+AQ)*D(1%)/3
NEXT 1%. S=SIN(90%*Y(1)). C=C0S(90%*Y(1)). T=1%+D*C. GOSUB 4260
NEXT M%. IF L% =N4% THEN GOSUB 4100

FOR 1% =1% TO 4% STEP 1%. W(i%, L% +1%). =Y(1%+1%)NEXT 1%. NEXT L%
Z1=Y(8): Z2=Y(1). C=Y()*Y(2)+Y(3)*Y(3): IF C<1 E—~9 THEN 4100
F=(~-U@, N2Zz)*Y(2)-U(2, N2%)*Y(3))/C

G=(U(1, N2%)*Y(3)-U(2, N2%)*Y(2))/C

A%=1%. FOR 1%=1% TO N2% STEP 1%. IF 1%>N3% THEN A%=-1%
Ud, 128)=Ud, 1%)+F*W(, 1%)+A%*G*W(2, 1%)

U2, 1%)=U(2, 1%)+F*W(2, 1%)-AZ*G*W(Q, 1%)

U3, 12)=U(s, 1%)+F*W(3, 1%)+A%*G*W (4, 1%)

U4, 1%)=UW, 1%)+F*W(4, 1%)~A%*G*W(3, 1%). NEXT 1%
Z=Z+F*Z14+G*Z2, END

N%=0%. END

D)=1%. D(2)=Y): D3)=Y(5). D(6)=S*Y(2)/T. D(1)=A%*S*Y(3)/T
D(4) =(~D*S*¥Y (4) + U*P{*C*Y (3) + B% *2*P1*U*U*S¥P % /D)* 5*P1/T

D(5) =(—D*S*Y (5) — U*P [ *C*Y (2) —B%* 5*P1*D*U*5*Q)* 5#P1/T; RETURN
FOR 1% =1% TO 4% STEP 1%. U(l%, N3%)=Y1%+1%). NEXT 1%. L%=L%+1%
Y(3)=—~Y(3)+4%*U*(P% +Q/D). Y(5)=—Y(5)—3%*Pi*U*Q. RETURN

FOR 1%=1% TO 4% STEP 1%. W%, N3%)=Y(%+1%). NEXT 1%
Y(@)==Y@); Y(6)=—Y(5): LB=L%+1%. A%=—1%: RETURN
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Calculation of Stresses and Deformations of Bellows by

Initial parameter Method of Numericai Integration

Hwang Chien
(Tsing Hua University, Beijing)
Abstract

By reducing the boundary value problem in stress analysis of bellows into inital value
problem, this paper presents a numerical solution of stress distribution 1n semi-circular
arc type bellows based upon the toroidal shell equation of V, V  Novozelovré!, Thrc.)-ugh—:
out the computation, S. Gill’s method0 of extrapolation is used. The stresses and defor-
mations of bellows under axial load and internal pressure are calculated, the results of
which agree completely with those derived from the general solution of Prof. Chier Wei-
zang, The extrapolation formula presented in this paper greatly promotes the accuracy
of discrete calculation, )

The computer program in BASIC language of Wang 2200 VS computer is included in
the appenasx.



